Revision for Tracking test 2
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The diagrams above shows the graphs of y, = arcsinx and y, = arccosx .
The graph of y, has endpoints al A and B.

The graph of y, has endpoints at C and £, and ) is the point where the graph of y,
crosses the y axis.

State the coordinatesof A, B, C, D and E.
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{Mé Solve the following trigonometric equation
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( v For the following implicit relationship , find an expression for -‘—"‘—, in terms of
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xoand y.



f} Differentiate each of the following expressions with respect to x, simplifying the final
“7 answers where possible.
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b) y=e " (sinx+cosx).
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Lo Prove  4iosec?26 - cosec’8 = sec’d

. f{x)= W2 cosx+22sinx, xe R,

"

a) Express f(x) inthe form Rsin{x+a), R>0, G(a{'{;‘.
by} Solve the trigonometric equation

f{x}=2for O<x<2m.
¢) Write down the maximum value of f(x).

d) Find the smallest positive value of x for which this maximum value occurs,




G@: M oxt=6x+6, xeR,
a) Show that the above equation has a root & in the interval (3,4).
b) Show that the above equation can be written as

6x+6

x—1

X =

An iterative formula of the form given in part (b), starting with x; is used to find «.
¢) Give two different values for x that would not produce an answer for x;.

d) Starting with.xy=3.3 find the value of xj, x5, x3 and x4, giving each of the
answers correct to 3 decimal places.

e) By considering the sign of an appropriate function in a suitable interval, show
clearly that o =3.33691, correct lo 5 decimal places.

{\}/ By expanding sin (45°—x} with a suitable value for x, show clearly that
cosecls®= \ﬁ—i—\fg.
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